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L‘nun’l&liu?tlll&llu Normal  Equation t 1ami?  a, b

54 = 11; + 551;

i = 0.4636

n

a = 2.5911

,.
Y = 2.5911 A- 0.4636X

X = 1 B Origin d 1 nmgpu  2509
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.
Y = 2.5911 + 0.4636 (0)

= 2.5911 WIU&uUlM
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*
Y = 2.5911 + 0.4636 (16)

10.0087 r;iu&uu  lvl

CY  = nh
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; = CXY (4)-

xx2

(-+)I fYmiumTTlflUay,nsar  Laai  rSu  ~au?iux.d?kmX1 X uou8if~naiu

nynsu  t7a11au  0 vll\)aJlnLau  + 1, + 2, + 3, . . . . . . . VllUi&lU  tl%

-1, -2, -3, . . . . . tda57aJF;1 x ,&m;El?h%7~ = 0
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2509 4 - 5 -20 25 2.5911

2510 5 - 4 -20 16 3 . 0 5 4 7

2511 4 - 3 -12 9 3.5183

2512 3 - 2 - 6 4 3.9819

2513 2 - 1 - 2 1 4.4455

2514 3 0 0 0 4.9010

2515 4 1 4 1 5.3727

2516 4 2 8 4 5.8363

2517 10 3 30 9 6.2999

2518 6 4 24 16 6.7635

2519 9 5 45 25 7.2271

5-Ju 54 0 51 110
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ZY-
n

54 = 4.9091
11

51 = 0.4636

llo
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8

6

2509 11 13 15 17 19

-5  L4 -5 -2 -1 0 123  ‘45
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(b) tihiwufluoynw  t-ml  riiu  tw4 ¶hn.tXi X hoynm7nu9nl

lo  f3dof$4luoynsut5u  - 1 11-a:  + 1 , -1 'Jin~lJ~lJlfiQu  +  1 ain-%

%ioLJ-\a'1uua~un'aua  - 1 n"tfiuuo;atih  - 3, -5, . ..* ttaz3l-hdn~~  + 1

t~uur;a  t&J
LII

+3,+5 . . . . . . . 69zni9nni57wou x = 0

XY X2 3

Fh lLU?Tu;

2509 4 -9 -36 81 212905

2510 5 -7 -35 49 2.7815

2511 4 -5 -20 25 3.2725

2512 3 -3 - 9 9 3.7635

2513 2 -1 - 2 1 4.2524

2514 3 1 3 1 4.7455

2515 4 3 12 9 5.2365

2516 4 5 2 0 25 5.7275

2517 1 0 7 7 0 49 6.2185

2518 6 9 5 4 81 6.7095

45 0 57 330
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II

a = cy-
n

= 45 = 4.5
iTi

= 57 = o. 1 7 2 7
330

+ = 4 . 5  +  0 . 1 7 2 7 ~

x = 6 1 Am O r i g i n  1 9 ufn1nu  lo696
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n

Y = 4.9091 + 0.4636 X

x = 1 u Origin d 1 nsnamu2514

,.
Y = 4.9091

12
+ 0.4636 X

1 2

= 0.4091 + 0.0386 X

x= 1B Origin 1 nsngiw 2514

; = 4.9091 0.4636
1 2 + 12 x 12 x

= 0.40909 + 0.00322 X



1 6 2

X = 1 r%‘au  Origin d 1 nsngmu 2514

; = 0.43002 + 0.00322 X

x = 1 1Rau Origin d 16 ummu  2515

G =  0 . 4 0 9 0 9  +  0 . 0 0 3 2  /,X  +  6 . 5  )

0.40909 + 0.00322 X + 0.01771
,..: 1 -ili

0 . 4 3 0 0 2 0 . 0 0 3 2 2 X

x = 1 Lm"FlU Origin d 16 un>ltw 2515
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; = 4.9091
4

+ 0.4636
4 x 4  x

= 1.2273 + 0.029 X

x= 1 lnxJ1a  ij Origin M" 1 tisnpmu  2514

16 8un1nu  2514 ffuqin Origin LWU ( 1 n.m. 2514 ) flu Origin '"iwu

( 16 a.m.2514 ) 1; 1 1 Ln"ml n%m~u~mslJ1a  mfu x = 0.5
2

G = 1.2273 + 9.029 !X + 0.5 )

= 1.2273 + 0.029 X + 0.0145

= 1.2418 + 0.029 X

x = 1 1nsu-m  ij Origin d 15 Q\ln~rnu  2514
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( annual increment in monthly magnitude ) hwiuS* r;?l&mulciau~oB

td’oni5&u  1 2  C7n~undu  ni5t~~4iuU9u~uim~ousiut~nu~~ama~t~

“nw  tkilu t+iauluauin%o~siu  t?iw” ( monthly increment in monthly magnitude)

f = 4.9091 + 0.4636 X

x = 1fJ O r i g i n  d 1  n  .n.2514

G = 0.40909 + 0.00322 X

x = 1 G1. Origin d 1 n.m.  2514
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2515 2516 zm¶~lua~au

0.42680 0.46543 0.03863

0.43002 0.46865 0.03863

0.43324 0.47187 0.03863

0.43646 0.47509 0.03863

0.43968 0.47831 0.03863

0.44290 0.48153 0.03863

0.44612 0.48475 0.03863

0.44934 0.48797 0.03863

0.45256 0.49119 0.03863

0.45578 0.49441 0.03863

0.45900 0.49761 0.03863

0.4622 0.50083 0.03863

0.4636 = 0.03863
1 2

0.4636 = 0.00322
12 x12

0.46356
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$.=I A Second - and Third - degree Parabolas

lo.e A Gompertz Curve and Logistic Curve

la."  A Exponeptial Curve

lo.<  A Modified Exponential Curve

b.. A Second - and Third degree Parabolas

Y = a + bX + cX2


